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The following table describes a series of experiments to be performed. The first eleven ones

OLAREX: Open Learning Approach with Remote Experiments
Project No. 518987-LLP-1-2011-1-ES-KA3-KA3MP

have been assembled, measured and compared, obtaining an absolute and percentage error. The
remaining exercises need to be done by the students. Is what has been obtained consistent with

what was expected? What is the error of a standard resistor? Do errors accumulate or do they

cancel each other out? Which experiment is the most accurate: the simplest (few resistors) or the

most complex?

This experiment can be performed using Google Docs/Excel and/or Excel spreadsheet.

Circuit Calculation Experiment
RT=1K+ 1K =
44 AK 2 KQ
e P i
A
RT = 10K + 10K
o |OK = 20KQ
i <
— K
( RT=1K + 10K = r g 1 15 15
lb‘} 11KQ ..m:;"| ® i
\ \ ,\ ]j s s s =QIEP—
== @ e BE B8 ® A
e RT=10K+1K=| # 9 11 12 15
11KQ oo e a ={lIlf= 1
— \ /}/\ —\’—’ D s s a s
s s B e W
AN 1RT =1/1K + G ——
- 1/1K => R R R
™ -
7\ :\.L/ senmAma
AW
\_,\’1_-—4 RT = 0.5KQ

Measurement

Comparison
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